Year 11 Mathematics Learning Journey: Unit 1 - Algebra 1

Step 9: Quadratic

formula Step 7: Solve complex

quadratics by factorisation

Step 8: Complete the

square
Solve 5x2 + 2x = 9, .

giving your answers to Solve x2 — 8x = -13 by Factorise and hence
2 decimal places. completing the square | solve2y? -3y =20

Step 6: Solving quadratics
by factorisation

Solve y2—10y + 16 =0

Step 4: Factorising complex
quadratics

Step 5: Solving equations

Solve 5y —4 =3y + 10

Factorise 6y2 + 8y - 8

Step 3: Factorising
guadratics

Step 2: Expanding Step 1: Expanding and
binomials factorising single brackets

Expand 5(2m — 3)

Factorise 8x2 + 12x

Factorise p2—6p + 8

Expand and simplify (4
+ 3x)(2x — 1)(x + 3)
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